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fruifa o : 35 (Aftrehan 3 : 60
Time allowed : 3 Hours| [Maximum Marks : 60
Ae: (i) VEHEAATGIAC Heag

Note : There are three sections in the paper A, B and C.

(ii) GFT € F 57 g1 1 % GH1 10 97T & IR AT | ¥edF Y7 Qb HF F 8
Gl 10 577 TGI8 JFR & Fe 71 & 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) AT A F 8 ¥vN 4 @ 87 6 Y1 & I SN | JAF F¥7 3 3% H1 8 @
37H1 5 FA15/50 VIeg] § I T /

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) QT @ F 6 TN A @ a4 Fel & IR GG | FeF 599 8 3 T 8 0
S7FT 15 13/150 i) § I G |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

(v) ¥eE GFIA % G4 5ol H1 FHER TF G 5 Bl |
Solve all the questions of a section consecutively together.

(vi) @M T # i 87 1 Rt 4 S A & A 8 |

Only English version is valid in case of difference in both the languages.

AHH - T
SECTION - A

L () A dad i s A aE R v

(@) 9O-¥HA b f=
(c) UAH (d) w9FH
Which one is not a part of PLC ladder ?

(a) Push button (b) Relay
(c) Contactor (d) Timer

(10f4) P.T.O.
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HI4 T1 U Fiuer GHdS TR AR 8 7

(a) aa-feat (b) Aw-feat

(c) YAUEd® (d) o7

Which one is not a PLC timer type ?

(a) On-delay (b) Off-delay

(¢c) Repetitive (d) Retentive

21 Sroft g, w . uer. = €t & fopg arfhes fém & qea @ 7

(a) OR (b) AND

(c) NAND (d)y NOT

Two contacts in series are equivalent to which logical instruction in a PLC ladder ?
(@ OR (b) AND

(¢) NAND (d NOT

A fava fora wam &1 5 2 7

(a) feforea (b) ITEY

(c) i fefores a ey (d) 3998 A HEAH

Thermocouple voltage is which type of signal ?

(a) Digital (b) Analog

(¢) Both digital and analog (d) None of these

ot we. . it s § wge s fet g -
(a) ATTd GUS I (b) TraEEH
(c) ma/fta gt @ = (d) o8 °HETE

A relay used in PLC ladder program is a part of —
(a) Input module (b) Output module
(c) Both Input/Output module (d) None of these

ot ue 4t Féw 1f [n, > n,| FIELR -

(a) afehep (b) e HYRY

() JeHHIHS (d) T

The type of PLC instruction If {n, > n,| is —

(a) Logical (b) Data handling
(¢) Comparison (d) Counter

(vii) TEafera srggwnl fra uftgy § ffe gfR s smm a2 ¢

(@ TH (b) F=

(c) ©HIS (d) Y€

Which device is used in automatic sequencing control circuit ?
(a) Counter (b) Relay

(¢) Timer (d) Push Button
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(viii) afasfer Friror gfgy 4 g i 1 3w g 2 7

(a) TN (b) =
(c) TIUTeh (d) wHHIH
Which device is used in interlocking control circuits ?
(a) Push Button (b) Relay
(c) Counter (d) Timer
(ix) ) .ued. 1 diet = for ST 8 -
(a) Ueh & shilieh €9 (b) =rshra whites €9
(c) FGBEIH (d) 8PS T
The ladder in PLC is scanned
(a) Once sequentially (b) Cyclic sequentially
(¢) Randomly (d) None of these
(x) TSR TH —
(a) BTEIH (b) TREH
() FERR AU @A A (d) IHH H B TR
SCADA isa—
(a) Hardware (b) Software

(¢) Hardware and Software both (d) None of these

Y — ot
SECTION-B
TSl % H18 i @ fefiay |
Write any three benefits of SCADA.

it uer. dt. 3 3T @Ug &1 qUi HIfAT |
Describe the input module of PLC.

e = @uet § sifite wi @S |
Explain redundancy in PLC modules.

e Hiet % faea % ey =ie] ag o o fore . uer 4. Hidt @ 13T |
Draw PLC ladder diagram for ON-OFF control of a motor with latching.

AT AND 1 3921 Htd g¢ U .o 4. #idi T §AT3T |
Draw a PLC ladder diagram using logical AND.
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12.
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15.

100 T TUTT o I U HIeX Hl el 0 3 fore v v, @it g =msw |
Draw a PLC ladder diagram for switching ON of a motor after counting 100. 3)

IR & R ve et #i fogm A6 T & fore v f.wer. . it smg s |

Draw a PLC ladder diagram to switch OFF a motor due to overload. 3)
THTE T 1 setieh 31T &S |
Draw the block diagram of SCADA system. 3)
Yo -t
SECTION -C
2t @mge e & foru wsp ot wer +ft. i G T30 a1 366! Frifafy guszu |
Draw a PLC ladder diagram for traffic light control and explain its working. (8)

Wﬁm%m@ﬁ.w.@ﬁ.zﬂ@ﬁmmwmmﬁxml

Draw a PLC ladder diagram for elevator control and explain its working. (8)

Rt A e o fore ush et 4. €Il 3 FT3U aUT 3Eh HIATUTEA GHZTSU |

Draw a PLC ladder diagram for Stepper motor control and explain its working. (8)

39 18 o ST v 61 v sonreht %1 = i % gy avl it |

Describe a scheme of SCADA control of pipe line with neat sketch. (8)

@ Wt & @t s feEe 3 v fuad. @id sme s qur sm5h
FHIAYUITA GHET |

Draw a PLC ladder diagram for automatic sequential control of three motors and
explain its working. (8)

Th 3 H UMl % ame H FRifrd e 2 o fooed. Sl sma sy aen s5dh
FHHSTC FHT |

Draw a PLC ladder diagram for control of temperature of water in a tank and explain
its working. (8)



